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Aifempt any Kive gquestions.

AN guestions carry equal murks.

1. {a) In the context of calculating national income by
product method. explain what double counting
1s and discuss why GDP 1y not equil to iotal
sales. (i

tbYy Explain the concept of Implicit GDP deflator. (3)

(®) J=me fafyr g ol s & o & el W S o
=N 2, =W Fifim Am = fifwe B o3 GDP o
fawg & T A8 A
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-

S, (a) Explain consumption function and saving function,

(%)
{b} Suppose for an economs. consumption function and

investment are given as under :
C=100-08Y. [ = Rs. 1000 crores.
tiv Find the equilibrium level of GDP 2

(i) By how much will the equilibrium Jevel of
GDP change if investment increases by
Rs. 1304 crores. (3.4)
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C =100+ 0.8Y. 1= 1000 &2 TI9
(i) GDP = ¥ga= =R 33 g
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fF GDP & @37 #R ¥ fea afed= #mn ?

fad

Explain how government can use its tooks of fiscal
policy tgovernment spending and taxation) to end a

FeCession. \Ssume prices are constant, {(iM

e #iwe 5 fFE weR weR g aaeh Ak ®
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4. ta) Define aggregate supphy (AS) curve. What factors

determine its shape in short run?
(b) What factors can cause a shift in the AS curve 2

(c) Explain how equilibrium level of real GDP and
price level changes due to an increase in aggregate
supply. (5.4.6)
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5. Show the effect of an expansionary aggrepate demand
shock on the price level and real GDP in Short run
and Long run. {15

FETEE © SR W e OMES WE W ([ WER
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6. Defins 1S apd 1M cunes. How is LM curve and
AD cunve affected it there 13 an increase in money
supply. {13

is T4 LM 3F @ afoaim w0 ¢ Y@ #oIld ¥ gl @
LM 7O AD o% B TR opeiies BE R 7

(a) Distinguish between money and near money. (7)

ity Explain the shape of the demand for money as a
function of mierest rate. %
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8. Write short notes on any two:
(i} Operating Surplus
iy ~er Esport functios
Gy Automatic Stabihiser £ 7527
farst €1 v wfirg foom ffeEg
{i) oRam= afiaed
(i) 38 | we
(i) smoafs it {9000}



